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ENGLISH VERSION
Instruction : As per the instruction of page no. 1.

1 (@) Shri Bhadhresh is an Indian citizen and ordinary 4
resident. During the Financial Year 2014-15, his income
of rent from sub-letting of house was Rs. 12,000 and his
expenses for providing facilities to tenant was Rs. 1,500.
He has also received rent of Rs. 6,000 from let-out plot
situated in urban area. He has received overtime
remuneration of Rs. 3,000. The interest income on deposit
in a foreign bank (located outside India) was Rs. 9,000. He
has also received rent of Rs. 7,200 from a let-out house
owned by him.

What would be his taxable income under the head
‘Income from Other Sources’ for the AY. 2015-16 ?

(b) Mohis of Mehsana sold one product to Bhavesh of 4
Bharuch at Rs. 15,000 per unit and paid 4% Central Sales-
Tax (CST) as well as paid other expenses of Rs. 900.

Bhavesh of Bharuch sold the goods to Suresh of Surat
at Rs. 21,000 per unit and charged VAT at 12.5%. Suresh
of Surat sold these goods to Vimal of Valsad at Rs. 24,000
per unit and charged VAT at 12.5%.

What would the amount of VAT paid by Suresh ?

(¢©0 For Financial Year 2014-15, the profit and loss account 4
of a partnership firm shows net profit of Rs. 1,00,000 after
booking the remuneration to partners for Rs. 5,00,000 and
paid interest on capital in excess of 12% Rs. 50,000. The
firm satisfies all conditions of Sections 184 and 40 (B).
Calculate net taxable income of firm.

2  Find out taxable income from other sources for the 14

AY. 2015-16 from the details given below of Rakesh :

(1) 40,000 as interest received from tax-less debentures of A
Ltd. (TDS 20%)

(2) 10% Tax-less debentures of B Ltd. Rs. 4,00,000 (TDS 20%)

(3) 27,000 as interest received on tax-free debentures of C Ltd.
(TDS 10%)

4) 15% tax-free debentures of D Ltd. Rs. 1,35,000 (TDS 10%)

(5) Interest credited of Rs. 9,820 in the saving account of post
office (single).

6) From 15t July, 2014, he received 7,070 per month as family
pension.

(7) Winning from motor-race (net) 42,000.
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(8 Winning from Cross-word puzzle (gross) 1,50,000.

Q) Received royalty 20,000 (gross) as an author of a book.

(10) He received 5,000 per month as rent of his furniture. On
1.4.2013 the written down value of it was 80,000. Approvable
rate of depreciation is 15%.

(11) He received 7,500 per month as rent from sub-tenant. He
paid 4,000 per month to the owner of the house.

(12) He received interest of 10,000 from unrecognized provident
fund in which proportion between employer and employee
was 3:2.
On all securities interest received on 30th June and

315" December. On 1.4.2014 a loan of Rs. 2,00,000 was taken

at the rate of 12% to purchase taxable debentures of B Ltd.

which returned on 16.6.2014. On 1.1.2015 Debentures of D Ltd.

was sold at Rs. 2,00,000 and paid selling expenses of Rs. 5,000.

The rate of TDS on casual income is 30%.

OR

2  Find out taxable income from other sources for the 14

AY. 2015-16 from the details given below of Vijay :

(1) Rs. 24,000 as interest received from tax-less debentures of
X Ltd. (TDS 20%)

2) 10% tax-less debentures of Y Ltd. Rs. 2,40,000 (TDS 20%)

(3) Rs. 45,000 as interest received on tax-free debenture of C
Ltd. (TDS 10%)

4) 15% tax-free debentures of E Ltd. Rs. 3,00,000 (TDS 10%)

(5) Interest received on National Defence Bond Rs. 18,000.

(6) Family pension received Rs. 3,000 per month from 15t
October, 2014.

(7) Unexplained expenses Rs. 75,500.

(8 Royalty received from mine (gross) Rs. 50,000

(9) He received Rs. 3,000 per month as rent of his plant. On
1.4.2014 the written down value of it was Rs. 1,50,000.
Approvable rate of depreciation is 15%.

(10) He received Rs. 5,000 per month as rent from sub-tenant.
He paid Rs. 3,500 per month to the owner of the house.

(11) Winning from Lottery (Net) Rs. 1,40,000.

(12) He received interest of Rs. 8,000 from wunrecognised
provident fund in which proportion between employer and
employee was 3:1.

On all above securities interest received on 30t June and

315" December. On 1.4.2014 a loan of Rs. 1,50,000 was taken

at the rate of 10% to purchase the debentures of Y Ltd. which

returned on 30.9.2014. Half debentures of E Ltd. was sold at

Rs. 1,50,000 to return the loan. Selling expenses of Rs. 5,500

was paid. The rate of TDS on casual income is 30%.
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3 Raman and Gaman are two partners sharing profit and 14
loss 3:2 of a partnership firm. The Profit and Loss Account
of the firm for the year ending 31.3.2015 is as follows :

Dr. Profit and Loss Account Cr.
Particulars Amount | Particulars Amount
(Rs.) (Rs.)

Cost of goods sold 86,00,000 | Sales 1,26,00,000
Salary to staff 17,79,600 | Long term
Depreciation 1,60,000 [ capital gains 80,000
Remuneration to Other business
partners : receipts 62,000
Raman : 6,00,000
Gaman : 4,80,000 10,80,000
Interest on
Capital at 18% :
Raman : 72,000
Gaman : 50,400 1,22,400
Other expenses 7,40,000
Net Profit 2,60,000

1,27,42,000 1,27,42,000

Other Information :

(1) The firm completed all legal formalities to get the status

of Firm’.

(2) The firm has given donation of Rs. 1,60,000 to a Public
Charitable Trust which is included in other expenses.

(3) Remuneration and interest is paid to partners as per

the partnership deed.

(4) Depreciation allowable under Section 32 is Rs. 1,56,000.

From above information find out the Net income and
tax liability of the firm for the A.Y. 2015-16.

OR

3 (@) From the following details, as per Value Added

Tax Act (VAT) find out :
(1) Total tax

(2) Tax credit (Refund) and

(3) Tax received by the

government.

Manufacturer Ankit purchased raw material as follows :
Raw material of Rs. 8,000 purchased from Amit,

rate of VAT 6%.

Raw material of Rs. 10,000 purchased from Amol,

rate of VAT 7%.
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Raw material of Rs. 12,000 purchased from Anil, rate

of VAT 5%.

He produced finished product from such raw materials
and sold it to wholesaler at Rs. 70,000, rate of VAT 5%.
Then he sold it to retailers at Rs. 1,04,000, rate of

VAT 7%.

At last the retailers sold it to consumers at
Rs. 1,40,000, the rate of VAT 6%.

(b) Ritesh and Mitesh are two partners of a partnership 8
firm. The Profit and Loss Account of the firm for the
year ending 31.3.2015 is as follows :

Dr, Cr.
Particulars Rs. | Particulars Rs.
Cost of goods sold 2,80,000 | Sales 4,80,000
Remuneration to Rent of house

partners 50,000 | property 18,000
Interest on capital Long term

of partners 12,000 [ capital gains 54,000
Local tax of house

property 8,000
Misc. Expenses 72,000
Net Profit 1,30,000

5,52,000 5,52,000

Additional Information :

(1) Out of Interest on capital, Rs. 3,000 is not deductible.

(2) Out of misc. expenses Rs. 6,000 is not deductible.

(3) Brought forward business loss of last previous years is
Rs. 72,000.

4) Brought forward unabsorbed depreciation of last three
previous years i1s Rs. 72,000.

Find out (a) Book profit and (b) Maximum remuneration
to partners.

4  Explain in detail : (any two) 10
(1) According to Income Tax Act classification of securities.
(2) As per Sec. 194-A tax deduction from interest other than

interest on securities.

3) As per Sec. 234 (B) interest payable for defaults in
payment of advance tax.

(4) According to VAT Act, Dealer, Sales and Selling price.

(B) As per Sec. 32 of VAT Act, Return scrutiny and
Provisional Assessment.
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